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B.A./B.Sc. (General) 5™ Semester
(1129)
PSYCHOLOGY (In all Mediums)

- Paper— Clinical Psychology

Time Allowed : Three Hours] [Maximum Marks : 70

Note :— (1) Attempt five questions in all. All questions carry
equal marks.

(2) Attempt one question from each Unit.
(3) Question No. 1 is compulsory.
1.  Write short notes on any seven of the following :

(1) Exorcism

(i) Attributional style

(ii1) Interoceptive cues

(iv) Institutionalization

(v) Coping

(vi) Arithmetic mean
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(vii) Neural Plasticity _
(viii) Stress Hormone Cortisol

(ix) Decompensation

(x) GAS

(xi) Correlation

(xii) Level of significance. 7x2=14
UNIT—I

Define Abnormality. Write a note on DSM V classification
system of Abnormality. 4,10

Critically evaluate the Psychodynamic viewpoint of

Abnormality. 14
UNIT—II

Write in detail, various Biological causes of Abnormal

Behaviour. 14

Discuss the different psychological causes of Abnormality.
14

UNIT—III

Define Stress. Describe different types of stresses involved in

patterns of Psychological disturbance. 4,10

Write a detailed note on the factors predisposing a person to
Stress. 14
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UNIT—IV

8. Find the rank correlation coefficient and interpret the results
of 11 students in test of English and Maths respectively :

Scores in English (X) 80, 45, 55, 56, 58, 60, 65, 68, 70, 75, 85
Scores in Math  (Y) 82, 86, 50, 48, 60, 62, 64, 65, 70, 74, 90
10,4

9. A teacher of Mathematics gave a test in multiplication to the
30 students of his class. Then he induced a state of anxiety
among them and the achievement test was re-administered.

The data obtained were as follows :

Initial Test Data Final Test Data
Mean 70 Mean 67
SD : 6 SD 5.8

r between the initial and the final test scores = 0.82.
Find out the following on the basis of given data :

(1) Is there a significant difference between the two sets of

scores ?

(2) Test the hypothesis that the population mean on the final
test is significantly lower than the population mean on the

initial test. 10,4
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AT :— (1) B/ T Y77 H | @ g & g IF 8 |

1%

(2) 9% AT A § TH YA AL
(3) e §. 1 sfaE B

fFrefafed ¥ @ R w@ ) g A o

(i) wS-FH

() TS Al

(iii) 3ecVAfeT daha

(iv) EEMIGHTT

() Hiepat

(vi) S #1eg

(vii) T nRefadt

(vill)TT@ 1 A e

(ix) ImEeT

(x) SUTE.

(xi) Geddy

(xii) & HT #EA | 7x2=14
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8.

gfe—I
fgmTgar < afftg 3 | fAgmFgar & DSM V aifisor gorer

W Th A foe | 4,10
FHTHATAA & HANATCIIUCHD GRChIT] T JTATTAHD g
L. 14
gfe—I1 |
I FEeR B A Sfew Frol o) e § foe |
14
fgmraar & Al #Esne FRo o == #wR | 14
gfe—III
T1E I gRART HX | FAIATIAS TSTS! & Yed H i AR
YhR & qAEl HT FUA HL| 4,10
g & 9IE § T PR W @ gy qe e 14
eIV

11 3F 3 sy AR G & gdew § g gRemaf &1 36
geqsy TUH H1 G MY AR gl HY

F H 3w (X) 80, 45, 55, 56, 58, 60, 65, 68, 70, 75, 85

o H 3F (Y) 82, 86, 50, 48, 60, 62, 64, 65, 70, 74, 90

10,4
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9. ﬂﬁa%@ﬁ%%aﬁm%m@ﬁraﬁrgmﬁ@m{:
R 3=R 37+ a9 fiar & Rufy @1 R B Ik Suefr gde
H R § yonfaa far) o Se1 3@ g ¥

IS 8T 2ar sifaw gderor T

Hreg 70 A 67
GIECON R 6 GIEEIRCERE] 5.8
g A SR 2w R P A 1= 082
frefofea fiw g Se1 % smER @ gar @md |

(1) ® &R & F T 3 o9 & Feaq R P 7

(2) R&FegAT 1 gdEr X fa sifow o # 9w T S
&1 7oy GRS q0e H UIQ Y SAE@n S e § Hm
FH B 10,4

(JFrEt nigeTe)
3¢ :— (1) % UA yrs 91 A3 yFa' © »id A J5|
(2) 3= gfee & fea yrs ad|
(3) yHs dg9 1 =t I
1. Jo fefimt &G fan & A3 €3 ®w 3 fou
(i) =

(1) TIJEIHA
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(iii) »izgAHt Ha3
(iv) FAEQEA9E

(v) &8

(vi) forg = H3®g
(vii) 33T ysHSRST

(Viil) 3™ T T9HS JAICIAG

(ix) fews
(x) #LEam
(xi) mfoR=g
(xii) Vo9 = HI3T) Tx2=14
gfee—I
2. Wﬁuﬁgwﬁelwm%ﬁﬁmﬁm:dmﬁaaz
yeEh 3 fEx ae faul 4,10
3. MAUGAST € feABHE3HA feRctae € MBUaSHA HBEE &9 |
14
gfee—II
4. wRUIs feeaa ¢ fefds Afea aast Bug feraa a® f&g|
14
5. MAUGE3T € TH-TUT WALl 96T &9 9997 9 |
14
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gfse—III

-
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6. Iz § ufasTHz 31 Hafefomias aEEEt @ Deast i e
Y-y fapnt ¢ 3Tt T T96E AS|
7. fonadt € 33 &% U3 a9 '3 £ feraousex ae f&d |

gfse—IV

4,10

14

8. 11 fefenrgenit @ widet w3 aifes @ udhyz yus ufgamt r

I AfoFAgy g&ix T U3t T w3 fenifant a9 :

vigrt e wia (awr) 80, 45, 55, 56, 58, 60, 65, 68, 70, 75, 85
Jfes &g wia (=) 82, 86, 50, 48, 60, 62, 64, 65, 70, 74, 90

10,4

9. dfez © I niftrmiug & nmust a&A € 30 fefenmaeght & g=t
feg fEa iftmr &t feg 8Rd 8xf fewae fo3r & mfast
e a3t »i3 Yust 2R T T YyEU J137 famr yu3 &3
e viaz Jo €3 ngAg As

Hgnst 2Ae 3T ni3H A Ser
WA 70 WA 67
Hod feo®s 6 Hoa feows 5.8

HgnsSt w3 TEIH cAe © fegdd r = 0.821
I5 R o wiafurt @ wige I 3T U BTG
(1) ot Aag’ ® € Ret R f€x HIseyds »ise J 7

(2) fer »wieHs & Usy 9 fa niraet T H3®T wisH it
3 HPSt iftmr 78 HaHfemT € niew 518 JEt we J)
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